I\ ZRTOLE - IBEREERKS 2 &
[M4E11A

I
1

BR ($f14FE1A~10A8)

L3E (FEL) OHERR (FEH)
(1) DREELE (HH)

FAR B W H

SM4%E18~108

AR

BRI (%)

SM4%E18~108

BT R

BRI (%)

B o

34, 084

+2, 948

+9

856

+119

+16

(2) EHLLFRORERER (HH)

Z2AR =W W

SH4E1H~10A8 BIERIHALE | iR (%) SH4E18~108 BIERRILE | BEE(%)
BAZ 2,079 +295 +17 50 -4 -7
(S BEEHREBAR) 861 -12 -1 19 +3 +19
BEESZR 7135 +114 +18 6 -2 -25
L 64 -9 -12 0 -1 -100
r el AT & 486 +122 +34 8 +5 +167
BEESR 71,014 +1, 359 +24 158 +40 +34
amh S 1,156 +181 +19 30 +18 +150
HFEhs5W 1, 460 +200 +16 39 +18 +86
HIETE 287 +6 +2 17 +13 +325
%R \ 19 -5 -21
LS 4 541 -32 -1 100 -11 -10
a8 & 17, 822 +2, 236 +14 427 +71 +20
<ERLOFEREHBOEEE (1A~108) >
+180
+160
+140
+120 1 _
+100
+80 -
+60 -
+40 :F? -
+ig - _ V]l —vm —F77A . | —7 | % B
BAZ ;’;ﬁg” BBEA WE  |A—riqE aEEE | #8650 | Bthsu | HRE | smEx | B3z
OS5I E 54 16 8 1 3 118 12 21 4 24 111
BS54 F 50 19 6 0 8 158 30 39 17 19 100
2 EEW (AFBEH) OFRERKRT (HH)
SH4E1H~10A8 BIEREALL | B (%)
% T 4 +1 +33
g £ 12 -1 -8
B S 483 +99 +26
B o 499 +99 +25




I HETRIOLFERERR (FFNM45FE18A~10H)

SHLEENFE

or & LS L =1 %j&% BEEE| - 0E| BEgEgsansn[Erasn| FE1E | MR | MDD B
By 27 +2f 12 1 1 3 2 1 1 2
L= 1 -1 0
¥ T 3 +0 0
I ET 10 +] 2 1
FEEZ EHET 1 -2 1 1
EEET -3 0
BRHET 52 +Hff 41 1 16 3 3 16 1
5 ZRHT 11 -3 4 4
4 T 20 +0 9 1 2 1 1 4
EHET 54 +19|| 27 1 1 8 1 13 1 1
E3=k) 26 +10|| 15 2 2 1 1 1 3 1 1
FHAILET 6 +4 1 1
HEET 24f  +10) 12 1 1 1 2 4 1 1
FRHET 3 -3 3 3
FTHET 20 =2 12 1 5 1 4 1
FTBAET 6 -3 3 1 1
FRHTHT 4 -3 1 1
75 31 AT BT 1 -1 1 1
BRI AT T 2 +0 1 1
Al SERET 3 +2 1 1
At (Ll BT 3 +3 2 1 1
= AET 2 +1 1 1
K [ BT 2 +0 2 1 1
L1 5 BT 1 +1 0
L 5RHT 5 +1 0
EEET 23 +12 5 3 1 1
& T 3 +3 2 1 1
EREBRET 2 +0 1 1
BR A AHET 9 -6 8 7 1
HE FHET 4 +1 3 2 1
KERHET 5 -5 3 1 1 1
Fiz T 13 -6 i i
fEI=E A ET 25 +11 16 13 1 2
Ef B HT 15 +5 5 3 1
FHAHT 5 -3 1
RILHET 3 +1 0
1€/ KRBT 1 +0 0
INSEET 2 +1 0
FRET 2 -3 0
H o H BT 12 +3 i 3 1 3
FAHET 4 -5 3 1 2
R AT 34 +3ff 22 1 18 1 2
LU BT 37 +3ff 13 1 1 4 1 1 5
BaHE 14 +5 3 1 1 1
W FA T 3 -3 1 1
PN 5 +2 1 1
SATEFET -3 0
HEHET 5 -5 1 1
ZARAKHET 2 -3 2 1
EE i 17 -4 9 1 2 4 1
HRET 19 +12 13 4 5 3 1
ZARARERHET 13 +0 5 3 2




R

=z
SETELE

TR | BT gt @A e | mmma|svy sl srma| mesu|nresn| B3IE | HE | 1R |waie
=mzwm|  29] 8] 21| 2 | 76 2 1
zmzaam| 17| | 11| 2| 2 3 2 4
=mzwrm| 8 - 3 i 2
=R AT 9 +0 3 3
BT 200 +3| 12| 6| 1 i 3| 1 i
B 3 6| 11| i N
FIET K1 ] 2| 1
5] 6] 5| 7 il 3 ] i
B 5AT 7 I N i
AIRAT i8] <o 5| 1 i 2]
CLIG) 7 ]
i o] +o] o 2| 4| 1 i
G 5| o 1| 1 i
B AR of 5| 4 i 1] 2
EPOAT 6| -2 2 i i
MG i i
HIHT il ) o
BT a2 | 2 | 14 3| 7
AT 1 I i
S50 117 8| xof 3 2 i
) 11BT 1 = i i i
550 2| o
%488 7 I N R
RFE )
BEsHAT K1 IS Y 2

XifEt £ R ORFLEFIRGHEENHYFET

R BES I NP FHERD

LPEICHDEL-LFRzECSELEV-ILIRZ R XL

ORMEERDIERLL

OBRAZEDRIE

OBBRIEZEMDGIE

HARTILBS

®M4EI28118(B)I~128208(%)
<EBOER> |




BSOS RN TE—LOOFEHR

® EDICSA M ESADT.BNEEREITSEOoOFFEEEEICAHSEEF L LS.

® N ATE—LEFRAULCEITESESFRBEICERLUELLES.

NEaERTEOREDSFULDERS.

I=%dl [l =F"3 S oEia165/an

FEEICUUS oL N E— L - O—E—LECTFDICTIUBATEL LS.

9 1042 113 123 13 23 343
i i i Fie Fie i i
55 48F$ 483 483 483 485 S5BS

® EX-EBXFBORNTTREICESTFREIITCIEESENERSIELFEL LS.

OFWEHbEE TEHRFATRZE2R (BF 71-2219 FA4ViLA V)

m B
I HHZEFBEARFEBOORES (ffM4E1A~10A8)
N CEER P GEER
e | RE T e [ 56 e | BB R T e T B

=E 22 +7 2 2 18| [EowEr 2 - 2
EEE 4 -1 4 |mEr 3 -3 3
AT 5[ =0 5| |zsmer 21 +3 21
EET 1 +1 1| |#wer 2 +11 22
+EEZ AT i =0 TG 10 +5 10
REE of =0 ST 8 +6 8
HET 18 +3 18|  [xwEr 3 -2 3
4 AHT 15 -1 1 14| |AmaEr of =0

& 0T 13 +7 13| |=ewEr 13 +7 13
{ESET 22 +2 1 21| |=&xar 3 = 3
FEEE 16| -10 16| |=mer 4 +2 4
FAILET 2 +1 2| |maEr 8 +5 1 7
St AET 10 +3 10| |[==AzEr 6 +6 5
#5ET of =0 = AR HET 4 -3 4
BT 11 +2 11 =R AR 7 +5 6
FrBARET 0 -2 =R R 6 +1 6
SHEFHT of =0 =TT 10 +1 10
7 BT 1 +1 1| |=mer 36|  +17 36
3 B AT 0 -2 BT 21 +13 21
Bl EBET of =0 SRHAT 11 +3 10
3t LIS AT 4 -3 4| |maEr 8| =0 7
B ARET i =o 1| |=#mE 4 +3 4
K FRET 3 =0 3| [|mmer 11 -5 11
Ly S B 2 +1 2| |manEr 5| +0 5
EZHT 3 -3 T i 8 +3 8
REE 2 =0 2| |wmusEr 6 +2 5
EEET 1 -1 1| |wmrAmr 4 -6 4
SRERET 2 -1 2| |sEmEr 3 -1 3
B4 A ET 1 -2 1| [nesr 0 -2

BANET 1 -2 1| |w=eEr TE 1
K SET 6 +2 6| [wester 18 +4 17
R 7 +2 1 6| |[==Er 1 +1

1= AT 1 +8 1| [monEr 4 +2 3
S EET 2 -2 2| |avner 9 +6 9
AR AT 0 -1 R 2 -1 2
HRILET 1 +1 1| |=smeEr 3 +3 3
76/ RET 1 -1 1| |xFmEr of =0

INZET 2 +2 2| |mEser 10 +3 10
$28T 3 =0 3




